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WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2018

EDUCATION-HONOURS

PAPER- EDCA-VI

NEW AND OLD SYLLABUS
Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks. anfer Fia sz wPfe ‘2"737/7 et #ea)
Candidates should answer in their own words YT [NTerq ©rAT T T NN N
and adhere to the word limit as practicable. beg 991

All symbols are of usual significance.

NEW SYLLABUS
Group-A
et
Answer any two questions from the following: 15%x2 =30
ferafeiie q-cteat 415 eivea Oed wies
(a) Define counselling. What are the different approaches to counselling? 3+12
AR FRE wie | 2R [ jiRefef [ ¢

(b) What is the difference between adjustment and maladjustment? Give bnef 8+7
description of problem behaviours during infancy.

SEHGRUIN @ ToFHGT N 2N [ 9 THRPIAT TP Sb<erfet FRTHCH
S TN

(c) How personality and creativity testing are essential for guxdance 1.5+7.5
programme?

et FPPHite I TSH GR e TorE @ eFgsy| g
AT FCA ? /

(d) Explain the process of counselling for delinquents and drug addicted 7+8
persons.

et S @R ARSI CRLE s efesm e s

2. Answer any three questions from the following: 5x3=15

efeiRe @-@ foafp eivea Tez we:
(a) Discuss the guidance programme at primary level.
A R fAotmmin afesas i s

(b) Mention the professional skills necessary for a counsellor.

G APRISR AT el wrsiafe Sres s
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(¢) Discuss the importance of guidance in Education.
ot g fRotAmicT R ey SItest 61

(d) What is the need for rehabilitation in counselling?
AR (T 2T et & 9

(e) What are the functions of personal guidance?

s Mrmmia smafoq Fee F & o

3. Answer any five questions from the following: 1x5=5

fAsfefie @-ciet il 2ves Tea wies

(i) Rorschach Ink blot test is an example of
(A) Intelligence test (B) Creativity test
(C) Personality test (D) None of these
7o ifera witera wrorw 2@ -
(A) Ffem st (B) SElieTeta Sror
(C) ITeY oSt (D) IR 7% 7
(if) One of the supporters of Electic counselling technique
(A) Thorne (B) Williamson (C) Carl Rogers (D) Bordin
FE SRR oo Srew TN grE —
(A) < (B) Bafermrm () dRfaan! (D) IRw
(iii) ‘Adjustment is a psycho dynamic process’— explained by
(A) Jersild (B) Freud (C) Jean Piaget (D) Alport
(S 2o G D ACHI-BRIITI LI=elr’- YT FCACRA —
(A) TS (B) T (C) &t foraics (D) ST
(iv) The term *Schizophrenia’ was coined by-
(A)J. L. Moreno (B) Eugen Bleuler (C) Ivan Pavlav (D) Eysenck
‘P =« qiNeae wea —
(A) B TEA  (B) TR IFER  (C) T8 Afeete (D) HEEH

(v) ‘Aggressiveness’ isa—

(A) cognitive disorder (B) eating disorder
(C) sleep disorder (D) conduct disorder
RICREENIT ) B

(A) BITEAF (I (B) Qe (35T
(C) FRurefas t3ey (D) SIBNS (3T

(vi) Which is not a method of Creativity test?
(A) Interview
(B) Guildford’s divergent thinking instrument
(C) Sharma’s divergent production ability test
(D) Picture Completion

fsfeide @it Joierorr ofamteis 7 ¢
(A) HIIIR (B) Fet=ice wemidl o siffmio
(C) *Nfia S#R A FTOR TS (D) foq s 734

2
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(vii) Which is not a method to collect Vocational information for effective

guidance?
(A) Sociogram (B) Strong’s VIB
(C) Special Aptitude test (D) Intelligence tests
frsfeie @b R MetmmTR o IReEe o Al [ R &S
e '
(A) TSRS aS (B) ¥-93 VIB
(C) Rt eerst St (D) &= SrSr!
(viii) Major areas of Guidance are of
(A) 5 types (B) 4 types (C) 2 types (D) 6 types
oA eam craefE 2= -

(A) =I5 &R (B) SR &R (C) T2 &P (D) =¥ &1

Group-B
faemt-4
4. Answer any two questions from the following: 15%x2 =30
fsfeie - 7f efvsa Tea we:
(a) Explain the concept of special education. What are the objectives of special 5+5+5

education? What are the different types of Inclusive education?

Reda frwta g e s Kol Frer Sreefs & & ¢ segfe e

fria Rfon evmef & & 9

(b) Discuss the historical perspectives in special education. 15
e Pt @forifre cermield SITsa1 Fe

(c) What are the difference between Gifted Children and Creative Children? 8+7

Explain the role of a teacher to nurture the creativity among students.
Fare e R JETTe Fema g ideeR F /& 2 o grun fes,
RrFIice o ForTeTeTorR R IO I S|

(d) Define Juvenile Delinquents. What are the factors responsible for 5+7+3
delinquency? Discuss some of the mistake to solve / tackle the problem.

0N oA’ -9 W 718 | RONT SIoRleed g 2ol R Tomiaefs &
& 2 b s o= g o= 1 I

s Answer any three questions from the following within 200 words each: Ix3 =15

Fefefie @-@iEmt RafF 2ves Bes wie &S s oo *Itwma wae

(a) What are the difference between Inclusive education and Special education?
sgieTEs M e Remys Mg s snderefi G [ o
(b) What are the main problems of gifted children?

kel Rretes agw e R R o
(c) What are the causes of Hearing Impairment?
3 effeTgror FRef &R
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(d) What are the characteristics of learning disabled children?
R S R (el (5 1 ¢

(e) What do you mean by Cerebral palsy?
‘Gifaie #neThy JeTe [ @ 2

6. Choose the correct alternative from any five of the following:

fomferiie c-cicat #fisfe s1fd% T care Ao e

(i) The full form of NIMH is
NIMH -@3 3 /s 2 —
(A) National Institute for Mentally Handicapped
(B) National Interaction for Mentally Handicapped
(C) National Institute for Mentally Handicap
(D) National Institute for Morally Handicapped

(if) Mild hearing impairment ranges from

T T 23 A SIHFOI 24 ZC —
(A) 56 db — 70 db (B) 71 db-90 db
(C)41db-55db (D) 26 db—40 db
(iii) IQ level of moderate giftedness is ;
TGN WA o FENRIFE Fo 2 —
(A) 130 — 145 (B)> 160 (C) 146 — 160 (D) 161 —180
(iv) Dysgraphia is a type of
(A) writing disability (B) autism
(C) backwardness (D) retarded learning capacity
‘Dysgraphia’ (T AFFT —
(A) fers srwsrel (B) &fbew
(C) #MomaSTe! (D) PR Freiq afeqsesl
(v) NIVH (National Institute for the Visually Handicapped) was first established
at
(A) Mumbai (B) Dehradun (C) Delhi (D) Hyderabad
NIVH (National Institute for the Visually Handicapped) &% 2ifSPe = -
(A) T2 (B) AN (C) fif (D) RFE
(vi) Field of vision for Visual impairment is ---
(A) less than 20° (B) 20° (C) 20° - 40° (D) 40° - 50°
wiE effsawao cFea 8 v —
(A)20° Rtz (B) 20° (C) 20° - 40° (D) 40° - 50°
(vii) Recommendations for Special Education was first given by-
(A) Ram Murthy Committee (B) National Education Policy, 1986
(C) Kothari Commission (D) SSA
Reraad B oy e e s = -
(A) TS S (B) &Ie1 Rrwidifs, sbry

(C) iR S (D) st wfeas
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(viii) One of the causes of Autism is —
(A) Malaria (B) Brain defect
(C) Rubella infection (D) Poverty
“SBE -9 SO I I 2! —
(A) SicE=at (B) W& EH  (C) F&@ &FW (D) iz

OLD SYLLABUS

Group-A
Rem-7

i Answer any one question from the following: - 20x1 =20

fsfeiiie -t @6 avea Teg wies

(a) What do you mean by objectivity of a test? State the advantages and 3+6+6+5
disadvantages of essay type test. Classify objective type test. '

TOrFIA (HfETel IEre o & @IRN 2 o el HRa ak seiRarefE
e 3@ (FEEs SR @Rt It

(b) Define scales of measurement. Discuss nominal and ordinal scale of 4+8+8
measurement with example.

AR CFER RS 7| TRIZIPR ACHS CF qR PP (el SNl
Szl

v Answer any three questions from the following: 5x3=15

fafeiRe - foafp evsx Tag fams

(a) Discuss the need of evaluation in education.
FRrEPICTF ErReR Soaie! st I
(b) Differentiate between Criterion Reference test and Norm-Reference test.

fdine fofés @S (Criterion Reference test) ¢ & WAfofes oSt
(Norm-Reference test) W& =< fafa szam

(c) Write the role of observation as a technique of evaluation.
TEIICAA (e RECa #1weeeia il et

(d) What are the causes of low reliability of a test?
S fasataeTe 2iew IRl & [ o

(e) Briefly discuss the steps of constructing a standardized test.

GBS SISt S1oTaa e TRt s I
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3: Answer any five questions from the following: 3x5=15

iR @-cotet #fe dees Tea wes
(a) Mention any three differences between measurement and evaluation.
AR GR TR N0 @A Foa(0 -~y Srare w3
(b) Write any three characteristics of ratio scale of measurement.
R ST R -Gt Foad cafie @il
(c) State any three characteristics of Criterion Reference test.
fAdfins fofer s @-@iet foaf 3FE Rge 3@
(d) What is the importance of inquiry in educational evaluation?

PP PRI ST o 7

(e) Write any three uses of Cumulative Record Card.
YRR 6% #1047 A-ciet fow{b Teicatioret e

(f) State any three differences between essay and objective type test.
WA @R FET TR @~ foaf sk [ige s

(g) What are the causes of low validity of a test?

erFIg Fde! 2 PRI 2

Group-B
fRetat-2
4. Answer any one question from the following: 20x1 =20

e @-@a i 2rea Teq wiss

(a) (i) Define measures of Central tendency. Compute median, Pys and P7s of  3+4+4+4
the following frequency distribution.

@R ool wwt e WRfERe AR Ioa NN I, Pys GR Pos
fasfasmn

Scores: | 60-69 | 70-79 | 80-89 | 90-99 | 100-109 | 110-119
Frequency | 5 15 | 20 30 20 8

(i1) Compute Quartile deviation (QD) from the above distribution. 5
Tolrare I+ (U 59 +i1d (QD) fAfa st

(b) State the characteristics of Normal Probability Curve. Mention the types of  6+4+10
Skewness. Calculate Standard Deviation (S.D.) of the following distribution

and comment on the nature of the distribution.

FeiRT WERAE IFEIE (3FE [Rge T FEeR eFRren SraEd Il
e woate o Rpfs Ad st e 5aa @3S i o e

T
Scores: | 40-44 | 45-49 | 50-54 | 55-59 | 60-64 | 65-69 | 70-74 | 75-79 | 80-84
Frequency 3 5 7 11 15 20 18 8 6
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5. Answer any three questions from the following: 5x3=15

fraferie @-t foaft et T was
(a) Calculate SD of the following distribution.
e 354 (e wed Riprfe fdfa zat
Scores: | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency | 10 3 2 1 4

(b) State the uses of statistics in education.
vt AfRecTR 3329 [ige Tt

(c) Define positive, negative and zero correlation with suitable examples.
YOI, AN '8 *w) (6 THIZI<IHE T WIS |

(d) Draw a frequency polygon from the following distribution.
fersfeiie 57 (At w3l ~Afomat Iege e FEi

Scores: | 40-45 | 46-51 | 52-57 | 58-63 | 64-69 | 70.75 | 76-81 | 82-87
Frequency 2 3 5 6 8 11 9 6

(e) One student scored 55 and 24 in Maths and English respectively. Mean and
S.D. of Math are 60 and 10 respectively. Mean and S.D. of English are 26
and 4 respectively. In which subject, his achievement is better?

I BT OF 8 AT TG 55 8 24 (TR SEF NG 8 S.D. IAF 60
@R 10 G4 918 8 S.D. JAEC 26 G 4| QG0 (@ RAT @ 2Aawsirot 2

6. Answer any five questions from the following: 3x5=15

fafeie - o5 2eia Bez fuws

(a) Calculate median of the following data.
fsfeie afefer samm fdm st
9, 11, 13, 15, 19
(b) Write the steps of constructing histogram.
RreCe (REDIAN) StaR diviefe el
(c) Determine class boundaries:
cefaFa e 2t
15-19, 20-24, 25-29
(d) Determine Skewness, if mean = 86, median = 80 and S.D. = 43,
FC AR TN T 91T = 86, NI = 80 @R S.D. = 431
(e) Determine Quartile Deviation (Qp) if Q; =25, Q; =36 and Q; =45
5L #M1RT (Qp) M@ @A Q, =25, Q=36 9R Q3 =45 |
(f) State the types of Kurtosis.
SR eerrew fige Tt
(g) Given Mean = 60, S.D. = 10. Convert a raw score of 80 into a Z score.
TG = 60, W RS = 10 2=, 80 M Fb! FRCT Z I #1776 T
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